Tabela zjazdów
	L.p.
	Nr zjazdu
	Szerokość
[m]
	Głębokość
[m]

bez krawężnika
	Skos zjazdu

1x1

[m2]
	Powierzchnia

nawierzchni zjazdu

(c x d) + e
[m2]
	Rodzaj

nawierzchni

	a
	b
	c
	d
	e
	f
	g

	1.
	1
	2,70
	2,75
	1
	8,43
	kostka bet.

	2.
	2
	3,15
	2,75
	0,5
	9,16
	kostka bet.

	3.
	3
	3,30
	2,75
	0,5
	9,58
	kostka bet.

	4.
	4
	3,25
	2,75
	1
	9,94
	kostka bet.

	5.
	5
	3,60
	2,75
	1
	10,90
	kostka bet.

	6.
	6
	2,80
	2,70
	1
	8,56
	kostka bet.

	7.
	7
	2,75
	2,70
	1
	8,43
	kostka bet.

	8.
	8
	3,30
	2,70
	1
	9,91
	kostka bet.

	9.
	9
	3,20
	2,55
	0,5
	8,66
	kostka bet.

	10.
	10
	3,35
	2,55
	0,5
	9,04
	kostka bet.

	11.
	11
	3,35
	2,55
	1
	9,54
	kostka bet.

	12.
	12
	3,20
	2,35
	1
	8,52
	kostka bet.

	13.
	13
	5,60
	2,25
	1
	13,60
	kostka bet.

	14.
	14
	3,30
	2,25
	1
	8,43
	kostka bet.

	Łączna powierzchnia
	132,69
	



